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Ut — Ugg = ° o<z <m o<t

uy = ktbgy — hu —r<z<m, o<t h=col

u(—m,t) = u(m,t), uy(—m,t) =u.(m,t), u(z, o) =sinzx

Viu=o V<r<Y, o<

’u‘(\)g) =9, U(Yae) :0(9_7T)) ’u,g(T‘,O) =9, U(T)Tr) =0

Viu=o \<r<\",°<9<$

w(Y,0) =, u(V,0) =o, u(r,o)=(r—\)(r-Y), u(r,%) =o

Viu=o o<r<a, o<

’LL(’I‘, o) =9, U(T‘, 7T) =29, u(a,ﬁ) = 0(7T - 0)7 c""“’|)|'\‘\"'|)Su(070)
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Viu=o r<a
u(a,f) =sinf
Viu=o V<r<Y, o<l

’U,(\,H): °, u(\’,()): °, ’LL(’I‘,°): °, ’U,(’I‘,ﬂ'):’l'
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Ut = Uge + Uyy + Usz, olx<a, o<y<b o<z<<d, o<t

U(.’L‘,y,Z, o) =Yz, ut(l“,y,Z, o) =°
u(°7y7z7t) = 07 u(x7°7z7t) = 07 u(w7y7°7t) :u(m7y7d7t)7

u(a’ayazat) =9, uy(w,b,z,t) =9, uz(xaya O,t) = uz(wayadat)‘



